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9.
Reference:
Telus Evidence, Section 1, Paragraph 22

Request:

(a) Describe the rationale to determine the $3/month increment.

(b) Identify all of the inputs used derive the $3/month increment (including rate rebalancing, inflation, productivity factors, contribution, extraneous factor, other).

(c) Describe the averaging process, if any, used to derive the $3/month increment.

(d) Provide all quantitative calculations underlying the $3/month increment.

(e) Provide a quantitative breakdown for each of the elements in (b) above.

(f) Describe and quantify the factors that would lead to an increase of less than the $/month maximum.

ANSWER

(a) Please see interrogatory response TELUS(CACAlta)26Jun01-11 a).

(b) No inputs were used to derive the $3/month increment.

(c) No averaging process was used to derive the $3/month increment. 

(d), (e)
No calculations are available.

(f) Market forces may lead to an increase of less than the $3/month maximum, and indeed decreases in these rates.







